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A Bigger Ten-Year-Old (Figure2)

The average ten-year-old American boy around the turn of the millennium was more than
14 pounds heavier than the average boy of the same age in the early 19605, while the
difference in height was just aver an inch.

1963-65
Height  4ft.7in.
Weight  7481bs.

Waisesize  23.4in.

Calfgith  10.9in.

Upper.  80in.
armgirth

1999-2002
Height  4ft.8in.
Weight  89.21bs.
Waiscsize  27.0is

Cifgith  120in.

Upper.  92in.
arm girth

Difference
Height Weight Waistsize Calfgirch  Upper.arm gieth
2% 19% 16% 1% 15%
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